THTEEFELIHREEXERABRSBERE

E1-ERRD()NORIEL. FEEDBIE

T2 A RPOBERL. BEREALTVDIZELHY. BIGEEFTLIZEEIZ100%ELGLRBNEENH D,

1 EEAKEBAIAR 5. {43 PR _ 10 BIREBGRENR
% #FHIA % [E3 AA 2 % Fl B AN 3 %
_ i 514 96.8 3 i 424 79.8 BT I (# W - 52 134
> (585)]  (94.9) (487 (78.5) ;I - (43) (9.7)
_ 15 28 , 107 202 o 52 13.4
BE-—BRBRE g5 4o B g3 @1 [ETI(EF-9E) 73)|  (16.4)
_ - 2 04 N 531] 1000 - 87 225
IEMAERERRE (5] (10 Bl w0 ool BT T CEEFI (45 61
- 531] 1000 56 145
| 620 (1000 6 mgmimER _ EIN(£%9) 63)|  (14.2)
- 18.3 Hik 51PN % = 89 23.0
& s * (20.1) " m o 5| 40| |2 TV (1) 98)| (221
= Bl @i 02| [FEGFEIOEARRC ( 51) ( 13.2)
_ - - 145 2773 |B ¥ 2 % £ ) 51 115
B % BEHF BN e e = (100.(;
65 12.2 - 27 5.1 A 444 100.0
#) B qo|  aen| |# B = a9l @1
N 286 53.9 = 3 0.6 11 EIRFE B AR EENE
1| 5 @2 52| & = e o FE_B & ®A Bl %
118 222 - _ 5 09 223 57.6
6B ~10E | yip| sy |EF FEBF @ el B B ges)  Gon
51 9.6 - 9 17 6 16
TiTE~TSE @ ae| |F £ a2l agl B i + @ o
7 13 = 15 28 — 0 00
te@~20M ol asl |B = = a0l (1.6 woB x £ ) (0.5)
) 4 08 ‘ 48 9.0 = = 6 16
2 1. @B a k (9) (1.5) il B 68)| (11.0) EXERBMNSA (6) (1.4)
- 531] _ 100.0 24 45 o 5 13
Sl 60| oo | ® B ol es E ﬁ“ Bl e @6
- 485 N 531] 1000 R 10 26
THRERBROER (4.56) | 20| o] |EREETERME) g5 @9
[ ] a0 FZ] 1 0.3
7. FEEZERMFI A ER TE2HERIEX (1) (0.2)
= ER #hl A EAED = 68 176
; = 342 oag| |FHRLEZWE 66)  (14.9)
- 437 (705 = s 1 0.3
* B 119 224 FAEBRERE 4) (0.9)
(127  (205) 9 % = 4 2 05
m R ( % ( 1.5) i = (1) (0.2)
= 8 1.3 = 7 18
z = = 43 8.1 7 B & = @ (2.0)
(34) (5.5) F OB T+ A E& 58 15.0
— - 19 36 ERMB KRS 62l (11.7)
= (14) (2.3) = 387 100.0
— 0.86 - 531 100.0 A (448)|  (100.0)
Ty A K ME K (0.80) (620)]  (100.0)
12. 5 R RINER _
4 EERIPIR _ 8. 3 = B ®m %
£ B[ A # % = % 1 T = 391 73.6
) 0 "’ 0 0.0 B = 68.9 - (480) (77.4)
(1) (0.2) - (458) (73.9) & e = 105 19.8
2 0 " 68 12.8 * B 165 31.1 i o (105) (16.9)
(89)| (14.4) (162)]  (26.1) z o i 35 6.6
5 o R 201 379 - 531 1000 (35) (5.6)
(236)]  (38.1) A (620)|  (100.0) - 531 7000
135 254 A (620)]  (100.0)
4 o Rl as0| e8| o mirmERE _
5 0 e 84 15.8 %l B AlA Bl %
(98) (15.8) T T (1% # - 71 134
6 0 I 36 6.8 i A A = ) (53) (8.5)
(39) (6.3) T 71 13.4
. o ® 7 13 (103)]  (16.6)
(3) (0.5) " 102 19.2
s o0 f ~ ((; (0.(; BIWEF) 35 @i
0 00 67 126
N 531] 1000 ELIN(£%9) anl (24
: (620)]  (100.0) - 102 19.2
+ 5 = 415 BIVIEHR) 15 (s
5 i (41.0) R (FEITOER 118 22.2
2 & I 20 C B9 5 FEF) (136)  (21.9)
> i (19) =t 531]  100.0
= 72 A (620)|  (100.0)
= id & (76)




13. H B RAIAER _ _ _ _
B 5 B B % IR {7 S T B B %
- o 40 75 = i Bl 2 B Al 4 038 3 0.6
X R X % 6ol el |x 2 B O x % o oo ¥ H & () 02)
— - 33 6.2 . - 3 0.6 ; 2 04
®o# X % e ey |ER X F @ e " " @) 0.3)
- 26 49 A - 3 0.6 2 04
X x % wl| @2 | B X F @l el * a " ) 0.0)
- 24 45 - 117 220 2 04
X BRxX F g @l B KXF se| ose| [BE & o ©00
- - 23 43 _ 3 0.6 _ 2 04
AR IXRXZ onl  wal B X s M @ 05 = 5 " ) 0.0)
- = - 22 41 . " 5 0.9 2 04
BEEEZ2XF gy o |P & ® a0l |E & = © 00
- 17 3.2 - 1 0.2 2 04
" " B X% aol  ael [P - o oo [|F & " ©) (0.0)
- - 16 3.0 1 0.2 . 2 04
oW oB X F (32) (5.2) < @ fto (0) (0.0) i x = (0) (0.0)
- 15 28 - 531] _ 100.0 — 1 02
R X7 (13) 2.1) A (620)]  (100.0) & Vet & ) 0.2)
- - 14 26 " 1 02
3 @ fE K =F @) 0.6) il H =3 ) ©02)
- ; " 13 2.4 - 1 02
RRBHXP oy @) s msmsmemmm & = /]l ol 0
s 12 23] [B_& i/ BIA O #H % & 1 02
B x X % AN I TY i = p 163 307 |= A & 1) 0.2)
: - 10 19 - (208)|  (33.5) 1 02
BRI REXF gy s w = = ol 151 |F I & W ©02
NN - 9 1.7 - T (99)|  (16.0) ; 0 0.0
s & X # agl  eol [ " e 59 111 = 5 & 3) (0.5)
x M k= 9 17 (53) ©5) |z i - 0 00
- (10) (1.6) . - = 35 6.6 i 2 (0.3)
- " 9 17 i - - (46) (1.4) , 0 0.0
REREIKXRF o wol [z = . 22 oo| | i & @ 03
5 o x = 8 15 ™~ (38) (6.1) - " - 0 00
S - a2l a9l [ a1 5 27 5.1 = 0 ) (0.2)
— - 8 15 ™~ (26) (4.2) 0 00
A& # X ¥ @ as| [z . = 22 o |E i R W ©2
@ = k= 7 13 =% ™~ (33) 63 [ = - 0 00
5l anl a8l |5 0 e 12 23 0 1) 0.2)
B s k= 7 1.3 - " (19) (3.1 m s 0 0.0
& - © ol |5 ” a 8 15 i ™ M 02
- 6 11 < ™ (15) eal T 0 00
H OB X % @ ol [- " . 3 o I L " & © 00
T =m 5 = 6 11 ™ (8) a3l = a1 - 0 00
= (6) (1.0) £ - 5 8 15 =l ~ (0) (0.0)
+  m K= 6 1.1 5 i (8) (1.3) = = = 0 00
- - ® o [= = a 6 11 A ™ ) ©00)
. - - 5 0.9 — - (4) (0.6) = 531 100.0
"R EI X ol 1.6 _ - o 6 T A (620)| _ (100.0)
E B x = 5 0.9 = - ) (0.6) i
€ (1.1) I & o 6 11 12 EXAIAER =
e 5 0.9 - (1) (0.2) B X %
EEEIRXRXF @) (1.1) - - = 5 0.9 - = 344 64.8
xR T E % = 5 09 ‘ = B (8) (1.3) (429)|  (69.2)
+ (6) (1.0) " o " 5 09 i ” 102 19.2
5 W K= 5 09 ’ = (4) (0.6) = (121  (19.5)
- - @ o3 [z & 5 4 o8| [o - 45 85
& ke 5 0.9 i (6) (1.0) " €1)) (6.0)
" i @ 0ol [= 5 = 4 o8| |5 " 15 28
% £ * - 4 0.8 = ™ (6) (1.0) 7 (1.1)
i (4) (0.6) & n = 4 0.8 h - 13 2.4
% ® A = 4 08 ™ (1) (0.2) (9 (15)
- - @ s [ I - 3 o8| [ " 6 14
oM T E o= 4 08 ™~ (4) (0.6) @) (1.1)
- @ 05 |4 5 o 3 o8| [ = - 5 0.9
* R fF T Kk = 4 08 - @ 05 ' @ (0.6)
T AT @ 05 [g P a 3 0.6 . - 1 02
W = ) K = 4 038 i “ 3) (0.5) (6) (1.0
= - o o2 [ = o 3 06 - 531] 1000
£ & * - 4 0.8 ™ (2) (0.3) i (620)[  (100.0)
i - @ 02| [= " a 3 06
= T~ (2) (0.3)

FE1: BRI )AOKIET, EFEEDOKIE

T2 MERPOBEIE, EEAALTVDIEENHY . BIGEGFLIZEEIZ100%ELLTRNEENH D,




